


Bx+y] =[x] +[y] (modM)
Bx-y] =[x] +[y] (modM)

[v] [-y]
[yl




1. y=-0.0110
[y] =1.1010 [-y] =0.0110

2: y=0.0111
y] =0.0111 [-y] =1.1001




O




1: : x=0.1001, y =-0.0110;
X+y =7

[x] =0.1001 [y] =1.1010

[X] 0.1001
+ [y] 1.1010

[x+y]  10.0011

x+y = 0.0011




: X =-0.1001, y = -0.0101;
Xty =7?

[x] =1.0111 [y] =1.1011

[X] 1.0111
+ [y] 1.1011

[X+y] 11.0010

x+y =-0.1110



: x=0.1001, y = 0.0110;
X-y =7

[x] =0.1001
[y] =0.0110 [-y] =1.1010

[X] 0.1001
+[-y] 1.1010

[X-y] 1 0.0011

X-y = 0.0011




4. : x=-0.1001, y = -0.0110;
X-y =7

: [x] =1.0111 [y] =1.1010 [-y] =0.0110

[X] 1.0111
+[-y] 0.0110
[X-Y] 1.1101

Xx-y =-0.0011




O O

O




A B, S
:'E‘nénsn t Aangn
63+66=129 (-63)+(-66)=-129
0,0111111 1,1000001
+0,1000010 +1,0111110

1,0000001 10,1111111




* Cn Cn-l
’ ZEnCn-l + CnEn-lzcn@Cn-l
63+66=129 (-63)+(-66)=-129
0,0111111 1,1000001
+0,1000010 +1,0111110

1,0000001 10,1111111




( )

0 00. xyX,...X,
1 11, XyX,...X,

63+66=129
00 11 00,0111111
01 +00,1000010
01,0000001

OVR

(-63)+(-66)=-129
. 11,1000001
8 +11,0111110
110,1111111




A 10110101
01011010
01101010




A 10011001

11001100
00110011




] 2
] 1/2
[
1
0
A 0.0110

0.1100 0.0011




1.0110
1.1100
1.0011



1.1011
1.0110
1.1101

1.1011
1.0111
1.1101



3. BCD

N
N

I

Ny

I
|



(1)
X=10100001,Y=10011011,X Y=?

10100001 X
10011011 Y

10111011




(2) g

> A=10010010, A “17;
B =00000001

10010010 A
00000001 B

10010011 A




(3):

:A=10010010, A “0”
:B=01111111

10010010 A
01111111 B

00010010 A




(4):
/A=10010010, A
: B=10000000

10010010
10000000

10000000
l(011’
GGO”’

“111;

“111
“O”



()

:A=10010010,B=10010011,
A,B ?

10010010

10010011

00000001
“0", AB ,




[ Ci+1




>
W

i Ci

O
=

P PR R OOOO
PP OORFREF OO

P OFRPROFR OR

R oOooror oM
P PP ORFROOO

O
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|

nm
N
w&:—
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2

Ci+1

A

J §

A

A

A

A

CP

4__ I
il






N
A=A A ,..A.A, B=B_ B ,..B.B,
Cii =AB + (A B) Ci—
L G, = AB, — (Carry

Generate Function)

P.=A B,—— (Carry
Propagate Function)




WI> 552




C1 = Gy + PoCo =AgBo+(A;  Bp)Co
v

C, =G, + P,C;=AB;+(A; Bp)C,

|

C; =G, + I:)262:'6‘2'32"'(Az B,)C,

Cn == Gn—l + Pn-lcn—len-an-l_l_(An-l Bn-l)Cn-l
[ 4+2.5(n-1)T n




C, = Go+PoCy

C,= G;+P,C; = G;+P,(Gy+P,Cp)

C;= G,+P,C, = G,+P,(G,;+P,(G,+P,Cp))

C,= G5;+P;C; = G3+P,(G,+P,(G,+P,(G,+P,Cp)))
]

C, = Go+PoCy

C, = G +P,Gy+P PGy

Cs = G,+P,G,+P,P, Gy +P,P,PCy

Cy = Gg+P3G,+P3P,G,+P3P,P, Gy +P3P,P P Cy

] G.




| GiT
| J | I .
[TIT] l J J Ai Bi
: TR
® ® ‘o.o ® ! ‘ ‘

G3P3 G2 P2 G1 P1 Go Po Ai Bi







O 16 4 4

(4+3><2)T=10T
(4+15=<2.5)T=415T




N
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i
o

=]
@
=

N

______




G*

pi*

Gi* pP.*
[



Gi* Pir*

Go*=G3+P;G,+P3P,G,+P3P,P, G,

- Po*=P3P,P,Pq

[ G *=G;+P;Gg+P;PsGs+P;PgPsG,

. P*=P,PsP:P,
 G,*=61,+P11610+P11P10Gg+P11P1oPGg

| Py*=P11P10PoPg
 G3*=G;5+P15G14+P15P14G13+P15P14P 13615
- P3™=P15P14P13P15

<

C4 = GB+PBGZ+P3PZGl+P3P2plGO+P3P2P1POCO




G1 P1 Go Po




[l

Ca= Gy*+P*C,
Co= G,*+P,*C,= G,*+P,*Gy*+P,*P*C,
C1o= G™+P,*Cy
=G +Py G T PP TGP, TP TP Cy
Ci6= G3™+P3™Cy;

P3;*P,*P,*P,*C,

G* P* G Cs Cg Cpp Cyg







A, B, C, 4T
G* Px 25T C, C; Cp

o 25T

C7-5 Cl1~9 C15~13

P Gi Pi G0 Po
(4+2.5+2.5)T =9T




1 74181
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gt




2 74182
C

P G
74181 74182 16

n+x Cn+y c:n+z

74182

é** P**




16

G o P o Cn Z Cn Y Cn X

R A - ]

- . (4182 - -

G G2 Sl G0
Fi5 F12 Fi1 Fs F7 F4 F3 Fo
[ 111 [ 111 [ 111 [ 111
74181 P 74181 P 74181 P 74181 N

e e e

Ais 12 Bis 12 A11 8 Bi1 s A7 4 B7 4 A3 0 B3 o




O

O

ALU




x=0.1101 y=0.1011

0.1101
> 0.1011

1101
1101

0000
1101

0.10001111

n









1101x1011
B=1101, C=1011

A
0000

+B 1101

C
1011

1011

+B

1101
0110

1101

0011
1001

0000

1001
0100

1101

0001
1000

1101

11110

1111

1111

1101 x 1011=10001111



DATA SEGMENT
NUM1 DW XXXXH
NUM2 DW XXXXH
DATA ENDS

MULT PROC
MOV BX , NUM1
MOV AX , NUM2

MOV CX, 16 CX
LOP: TEST AX , O1H
JE NEXT 0]
ADD DX, BX 1
NEXT: RCR DX, 1
RCR AX, 1
LOOP LOP CX 1 =CX CXI1=0

RET CX O
MULT ENDP




1 X y

[X] =X, X 1---X;1 X

[y] = O'yn-lyn-Z' . 'yl yO




[X] = 2+x (mod 2)
[yl =y=0.y,.1¥n2---¥1 Yo
[X] Lyl =2y + Xy=2(Yp1...Y1 Yo)+x'y (Mod 2)
2(Yn-1---Y1Yo) = 2 (mod 2)
[X] [yl =2+xy = [xVy] (mod 2)
[xyl =[x] Lyl =[x] -y=IX] (0. Y,1...¥1Y0)




2 X Y

[X] = X,.X1Xn0---Xg

vl =1.Y51---Y1Yo =2ty (mod 2)

y=1yl -2=1. ¥4 1--.¥1Y0-2=0.¥p1...Y1 Y0 -1
XY = X(0. Yp.1--.Y1 Yo)-X

Xyl =[X(0.Yn;---Y1Y0)-X]

X(0. Ypq---Y1Yo)l +[-X]

X(0. Ypg---Y1Yo)] -[X]

X] (0. Yi1-Y1 Yo)-[X]




3 X y

[Xy] =Ix] (0. Yn1---Y1Y0)-[X] ¥,
0O y=0 vy,=0
L y<0 yn:1 _[X]




2. _ Booth

[yl =[X] (0.¥nq.--Y1Y0)-[X] ¥n
[

[X-y] =[X] [-YntYni12t+Y, 2%+ +Y27]

=[X] [-Yn+Yn-17Yn12 D)+ (Yno27-Yn 0279+
+(Yo2 (" D-y 2]

=[X] [Yn-1-Yn)+Yn2Yn-1)2 .. (Yo-y) 2D+
(0-yo)2™]

=[X] Yn-1-Y) T2 X1 (Yno-Yn1) + 27°CIX] (Ynos-

Yn- 2+ +270([X] (Yo-yD)+2H([X] (Y1-Yo)))--))
(y..=0)




1

[Po] =0

[Pl =24([Po] +(Y.1-Yo)[X] )
[p,] =2'([p.] +(Yo-YDIX] )

[pn] :2_1([pn—1] +(yn—2_yn—1) [X] )
[pn+1] :[pn] +(yn—1_yn)[x] :[Xy]
Yiz-Yia (1=1,2...n)

[x]
n+1 (yn—l_yn) [X]



Booth

R P O OX

n+1

R O O

Yi1



X=1014 Y= -1101. [X-Y]

A 0
X] =0 1011 B
-X] =1 0101
Y] =1 0011 C

C.(Yy) O




A C C,
00000 (100110
+[-X] 10101 C,C.,=10, X
10101
— 11010 1/10011
+0 00000 C,C..=11, i

11010
. agi il

#[X] 01011 C,C.,=01, +[X]

01000 ]
— .00100 001100

+0 00000 C,C.,=00, +0

00100
— 00010 000110

+[-X] 10101 C,C.,=10, +[-X]
10111 .
10111 oooﬂ [X-Y] =1,01110001
X-Y=-10001111




P B P P O O O O <

o

|

I—‘I—‘OOI—‘I—‘OO_<

P O Bk O k o rkr o <X

0
[EEY

+ 0

+ [X]
+ [X]

+ 2[X]
+ 2[-X]
+ [-X]
+ [-X]
+0



[P = 27M([Pd] +(Yii-YDIX] )

[Pis2] = 272 ([Piva] +Yi-Yie)[X] )

[Pio] =27 (2 ([P +(Yi-yDIX] )
+(Yi-Yir) [X] )

=22([pi] +(-2yirtyityi)[X] )

E — [# [ _
———  BELJING UNIVERSITY; OF TEGHNPL OGY;




o n n/2+1
n/2 ( )

n+l /2




X=10110, Y= -10101,
[X] =0,10110 [Y] =1,01011, [-X] =1,01010

[X-Y]

[X] =B,[Y] =C,0=A,0=C; Y,
A cC C,
000 00000[1010110

+[-X] 111 01010 C,C,C_,=110, +[-X]
111 01010

2,111 1101010010101

+[-X] 111 01010 C,C,C_,=101, +[-X]
111 00100

_ 2,711 1100100100101

+[-X] 111 01010 C,C,C.,=101, +[-X]

, 111 00011
— = +111.10001 1001001

[X-Y] =1,1000110010 X-Y=-0111001110



1001010+1000=1001+10/1000

1001

1000/1001010
- 1000

10
101
1010

o 100[0
10




X-Y

“O”



3)

(4)

“1”

cege>
(2)(3)



()

(2)




x=0.1011, y=0.1101, xl/y
x=0.1011, y=0.1101, [ -y] =1.0011

( )A (C)

00.1011 0.0000 | ()

+) 11.0011 X+[-y]
11.1110

+) 00.1101 0.000/0 +y
00.1011 (1)
01.0110 0.00|0

+) 11.0011 +[-y]
00.1001 0.00|01 R
01.0010 0.0|01 (2)

+) 11.0011
00.0101 0.0/011 +[-y]
00.1010 0./011

“111



00.1010
+) 11.0011

11.1101
+)  00.1101

00.1010
01.0100

+) 11.0011

00.0111

:0.1101

xly  =0.1101

0./011

0.[0110

0.110

0.1101

i

: 0.0111>=<24

x/y=0.1101+ 0.0111/0.1101 > 24



=0, °°1°° lq= 21y
<0, “°077 Ity
M =2(51Yy) -y
=2r+2y-y

=2r+y




1 “177 2r|-y
2 “O” 2r|+y
3 1 2 n +1










x=1000, y=0011, xl/y
x=00001000, y=0011, [ -y] =1101

(  )A

0000
0001
+) 1101

1110
1100
+) 0011

1111
1110
+) 0011

0001

(€)

1000
0000 A C

000|0
0000 A C
00[00
0000 A C
0001

Ty

Ty



(  )A (C)

0010 0010
+) 1101
1111 0010
+) 0011
0010
0010, 0010

x/y= 0010+ 0010/0011

C



X=28X-M
yZZEY.My
M, M

X X
<

X

X



E = E,- E,

E=0 ==
| El




X = 0.1101>=201
y =-(0.1010)>=<211 X+y="7

XYy
[x] =00 01 00.1101 [y] =00 11 11.0110

= M = \

X X Y Y

1

[ El =I[Ex] -[Ey]

=00,01+11,01=11,10
E=-2 X <Yy X
E+2 | E| =0

X

[IX] “= 00,11;00.0011



[x] = 00,11;00.0011
[ly] =00,11;11.0110

[MX+My]

00.0011
+) 11.0110

11.1001



[x+y] = 00,11;11.1001

[x+y ] = 00,10;11.0010
X+y= -0.1110><210




Xx=0.1101>=<210
y=0.1011>=<201 X+y="7

[x+y] =00,10;01.0010
1
[x+y] = 00,11;00.1001
Xx+y = 0.1001>=<211



O
1
1
01.0100>=<210
00.1010>=211 ;
01.1011>=201
00.1110>=210
1 O i i
1.01101000

1.0110



“1”

1 01.0100><210
00.1011x=<21!t

2 01.1011><201
00.1101><210




1-2M1l —<F =< 2m-1_17

>2m-1-1

<_2m—1




O X=25M, y = 25-M,

x-y=2(EX+EV)(I\/IX-My)




x/y = 2EEN(M,/M,)




[x] [Xx]
[X] =2"+Xx -2"=x<2"
X] Hy] =2Mx+2M+y=20+(2M+X+y)=2"+ [X+y]
X] +ly] +2"=[x+y] (mod2"*!)
y] =2"1+y ( )
ly] =2"+y
ly] =2n+2"+y=2"+[y]
[X] +Iy] =[x+ty]  (mod2")
[X] +[-y] =[x-y]




H

01

00
10
11




E,=+110  E,= +011

[E] =01,110 [E,] =00,011

[-E,] =11,101
[E,+E,] =[E,] +[E,] =10,001
[Ex_Ey] :[Ex] +[_Ey] =01,011 (+3)
E,.=-110 E~=-011

[E] =00,010 [E,] =11,101 [-E,] =00,011
[E,.+E,] =[E] +[E,] =11,111
[E-E,] =[E] +[-E,] =00,101 &)



4 3

x=23>=(0.1001101)
y=2-2>=(-0.1110010) Xy = ?

X 1,011 0.1001101
y 0,011 1.0001110
[E.] =01,011
[E,] =11,011

[-M,] =1.0110011




[Ex+Ey] =[Ed +[E/]

[E.] 01,011
[E,] +) 11,011
[E,+E,] 00,110

[M,M,] =1.01110110110110

[M,M,] =1.01110110110110



8 ( ) O 1
[M,-M,] =1.01110110110110
[M:My] = 1.0111011
Xy 0,110 1.0111011
X-y=2-2>(-0.1000101)
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